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Your two daughters to my two sons — 932 WY TN N

OVERVIEW

X217 queried what the ruling would be if one father said to another father your
two daughter should be MwTPn to my two sons with one 7v179 (only). The
two sides of the query are presented as whether we only consider the giver
and taker (and therefore since there is only one giver and one taker, so one
70175 would be sufficient) or do we consider those who are becoming
mwTpPn and therefore (since they are two) two MuIId are required. N1BOIN
qualifies the scope of this query and reinterprets it as well.

A father may accept w17’ for his daughter when she is a mvp (without her
consent). However he may never act on behalf of his son to be wipn a
woman for him without being appointed a 7°%w by his son.

— 922 ANT PVITPT HNVP N1 Y9107 PNHN 13229 99N
The 5" states that X217 is discussing a case where the daughters were
minors, so the P@173? money which is received, and the right to be wpn

them belongs to the father -
— NIV NN PYITIP YaPN AN MITHa INT

For if the daughters were adults and the father is accepting the 7"v17°p for

them as their agent -
—INDWNN 2TY XY NYDYWT HNN YIY NV YPAT NVIVD

It is obvious that a 7172 would be required for each of them, for a mbw

is no better than his principal. If the daughters would accept the 1u17p, each one
would need to receive a v17d in order to be NWTPA, so too if the father is acting on their
behalf he would have to accept two m115. However since they are mivp, one 717D is
sufficient for both of them (according to one side of the query). '

Mmoo anticipates a difficulty. How can we say that if they were m?173, then two mu1s
would be required, since he is their 1°%w; when we see that there is the possibility that the
father of the sons may give only a nuv119, if we would take into consideration only the
giver [the father of the sons (and the receiver, the father of the daughters)]. The father of
the sons is certainly their %2 and nevertheless there is that view that one nv17 is
enough, since we follow the jma. It follows that concerning the daughters the same should
hold true; that even if they are n9173, the father can accept one 70119 only, on behalf of
both of them, just as the father of the sons can give only 711179 only, on behalf of both of

! See w"x1 Moo who adds: X913 1 M7 TPWITR 212N 12w .
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his sons. N190IN replies that it is incorrect to assume that the reason one 7179 is sufficient
(for the sons) is because we take into consideration the father only (who is the 1n11).
— N2 NYD 1232 MINOHY NN TN HY 1NN 29IY NPT IND 9INPT 1) 9nay

For when the X713 states that perhaps we follow the 3011 (and the %2apn) it
was not stated precisely; for perforce the 0 is acting as an agent on

behalf of his sons -
—)PVTPN 0NNyl 02N TN NMIVIYND INVY YA M"N 1)’5?N 199 992 "N

And if we follow from the perspective of the I, two mums would be
required, for since the 1m1 (the father) is acting as a m>w for the o°12 it is as
if the 212 themselves are being w7p» the daughters; then each of the sons is

required to give one nvM0. Therefore we cannot assume the term (?2pnY) 101 at face

value-
— 991957 199N HaPn N2 N NN NIYan YaN

But rather the query is, do we follow this 1P 7°p from the perspective of

the recipient only; the father of the daughters -

— 2910799 MV Yapnh HaPOW KON YINY PN NOWT
For perhaps by 11 7P the only concern is that the recipient receives a
AWID MW and all other factors are irrelevant. In this case there is only one recipient,
namely the father of the daughters if we assume that the daughters are mivp. If we
assume that only the recipient matters then one 7v179 should suffice. However if the
daughters are M”17 then the father is merely acting as an agent for two recipients, then
certainly two M1 would be required.

NN continues in a different vein:
— 11)’}3\’)7 ANDY J2INID DY M3 0NN PN 99%2Y 9995 79

And it is necessary to assume that they chose for which of the sons each

daughter will be nw17pn, for instance »rm for 32187 and 78> for Pyew
> ANaY 190123 RYYW PYITD M1 19 XY ORT

For otherwise (if they did not designate specifically who will marry whom),

it will be a case of *8va% 1ME»1 KW PRTP, which it is not a valid PwITp,
according to X217, who posed this query.

* See “Thinking it over #'s 2 & 3.

? This is referring to a case where Pw17°p were made but in such circumstances as to not allow the marriage
to be consummated. If for instance a person was w7pn one of two sisters (without specifying which sister he
is being w7pn). This marriage cannot be consummated for each sister is forbidden to him since she may be
1w nInR. There is a npY2nn between X271 »ax (later on X,X1) whether the PwI17p are effective. X271 maintains
that 8°27 17021 ROW PWITP are not PYITR and she is not considered an WX nwX. (This np17nn is the "p" of
a"xp 2"y, where the 79977 is according to 2R, that it is a valid 1w17°p).

* Neither of the sons will able to live with either of the daughters because perhaps she is nwTp» to his
brother.
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SUMMARY

The query in the X 13 is whether it is sufficient for the %2pn to receive a
70179, regardless whether or not the 1011 gives a w11, The query is only in a
case where the daughters are nuvp, so there is only one 22pn (their
father).The prospective couples were specifically designated (according to
X27).

THINKING IT OVER
1. When the & n3 says (for one side of the X°¥2°K) 1°21% 137°7 702 X, who is
the 1777 referring to; the sons or the daughters?5

2. What would be the ruling if two people approached the father of the
daughters (M1vp) and gave him one 717D and said, ‘your two daughters
should be N TPn to us’; will that be a valid Pw1p?°

3. What would be the ruling of a person was w7pn a woman who is a 71771
71190 772 ww with 7R3 >0 that can cure her?’

> See n"m.
% See 11"nx footnote # 71.
7 See X" MW R MY "5 n"9n (and 19102 YR MK M"97).

3

TosfosInEnglish.com



